KT BRHEE

P2 FEHKR

e 1.042 [m®/min] D QR=Ptt i
= 0.017 [m3/sec]
2.084 [m3/min] XL EER RS
= 0.035 [m3/sec]
RO TEBRREDE
1) RBIED®ET N
RUTIHBHWL~ Rt R R EKELETHERE [m]
Ha = 5834  [m] XEEHEKY
) EEERBLGEORE ) o i
BEEERBLAGREORTII. BERIEZEEL.A—1— T/ XN\YNIZTEHET S,
a) HEEEIRIEL (DCIP 100A) :Hf [m]
Hf1 = A XL/DxV2/2¢g
ZZT. Al: EEIRIE R R 0.02+1/(2000X D) 1.5 X
= 0.037
D1: [EXERERNRE 0.106  [m]
(DCIP 100A)
V1: ENE 1.969 [m/s]
L1: BRER 5834  [m]
= 4.036 [m]
b) EEER{E % (DCIP 150A) :Hf2 [m]
Hf2 = A XL/DxV: 2¢g
T, A2: =318 =PI ER -1 0.02+1/(2000x D) 1.5 XhEE
= 0.055
D2: EXEBRERNE 0.157  [m]
(DCIP 150A)
V2: ERNTE 0.898  [m/s]
L2: BRER 20 [m]

0.286 [m]



c) EEEEIZ{E 5% (DCIP 200A)

tHf3 [m]

Hf3 = A XL/DxV: 2¢g
T, A3: =318 =PI ER -1 0.02+1/(2000x D) 1.5 XoEE
= 0.052
D3: [EEEENE 0208 [m]
(DCIP 200A)
V3: ERNTE 1.023  [m/s]
L3: BEE 690 [m]
= 9.243 [m]
HEEBRELXEREDAT RYTEBHWL~ MRt AR E/KEET)  IHf
Y Hf = 13.564 [m]
LRI R IGIEDIRET
hf = FxV2/2g ZZT. f: EMIRDIBLFER
V: ENFE
a)LT21—H (100=150A) :hfl [m]
BB 0.296 TR 1.969 [m/s]
R 1 hfl= 0.059 [m]
b)HIE90° (150A) :hf2 [m]
BRRES: 0.17 TR 1.969 [m/s]
[EE 1 hf2= 0.034 [m]
o)1k F (150A) :hf3 [m]
BRRES: 0.294 TR 1.969 [m/s]
R 1 hf3= 0.058 [m]
AEYIF (150A) :hfd [m]
BRRES: 1.27 TR 1.969 [m/s]
[EE 1 hf4= 0.251 [m]
eTEESR (150=200A) :hf5 [m]
BB 00728 TR 0898 [m/s]
R 1 hf5= 0.003 [m]
e)FR B EE/KEE :hf6 [m]
BB T 1 TR 0.898 [m/s]
[k 1 hf6= 0.041 [m]

FRIBLBIEOEET (R
Y hf
AEREIRLKEDEET R

I HF

TEHWL~ GRS R EKELET) 2 hfl
[m]

VTBHWL~ R R &S KL ET)

0.446

2 Hf + 2 hf

14.010 [m]



5)EHIEDRET
ROTHBHWL~ R S SR ETDEHIE: THI

TH1 = Ha + Y Hf + 2 hf
= 72.350 [m]

FOTHRUVTORBRRITUTET B,

28 EEr R TRk R Ao E 2.08 m3/min
21518 72.35 m

A 3= roTOHEE 1.04 m3/min
21518 72.35 m




